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2H B FLAv—% out GROSS  HDCP NET  fh%
B B S F4 B 45 0 45 10.8 34.2
EEE B8 HE B4 0 41 6.0 35.0
M BN EX ¥k 40 0 40 4.8 35.2
A U0 H=E ¥k 46 0 46 10.8 35.2
S /MR EF Bk 45 0 45 9.6 35.4
BBE Sz NG FEZ ¥k 61 0 61 18.0 43.0
1062 /NEEIR BRI Bk 50 0 50 13.2 36.8
2062 skE #ia ¥k 41 0 41 2.4 38.6
06z R KF ¥k 56 0 56 15.6 40.4
HBE 2961 M KiE ¥k 50 0 50 9.6 40.4
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IE {iL TLAYvY—4 a—X GROSS HDCP NET ZE .- [HE
= Blar & ouT A5 10.8 | 34.2 | EAE
HE B KE ouT 41 6.0 350 | EfIAE
3| A FEX ouT 400 4.8 | 35.2 |LfIAE
Mo s ouT 46 10.8 | 35.2 | L{IAE
SEI|/MNE EF ouT 45 9.6 | 35.4 | EfIAE
6{|FEIL TR ouT 49 13.2 | 35.8
Tz k— ouT 421 6.0 | 36.0
8tzliTil BF ouT 450 8.4 | 36.6
Of |t Eif ouT 44 7.2 | 36.8
1042 [/NVETR B ouT 500 13.2 | 36.8 |RUE
IRFEERER ouT 4 48 371.2
1242 [ L4t BiA ouT 41 3.6 | 37.4
134z|tm & ouT 400 2.4 | 371.6
14467 | =8 BE ouT 52| 14.4 | 37.6
1546728 &8 ouT 520 14.4 | 37.6
166Z|4 FR ouT 52| 14.4 | 37.6
1761 | BFF  RF ouT 44 6.0 38.0
184 |8R M= ouT 500 12.0 | 38.0
1947 | s = ouT 42l 3.6 | 38.4
20457 |5kEB  EA ouT 4 2.4 38.6 |RUE
2161 [ AR FHRE ouT 47 8.4 38.6
y¥ZAE=1:: I b= ouT 571 18.0 | 39.0
235 [y Eih ouT 50f 10.8 | 39.2
20457 |FL E ouT 56 16.8 | 39.2
25| A HEF ouT 49 9.6 | 39.4
26| A0 HEHE ouT 400 0.0 | 40.0
2745 |EH  HER ouT 58 18.0 | 40.0
28| == HBEAF ouT 571 16.8 | 40.2
20437 | % K& ouT 500 9.6 | 40.4 | 4BE
0L | Bix KF ouT 56| 15.6 | 40.4 |RUE
| hF =t ouT 62 21.6 | 40.4
2L |hE =K ouT 43 2.4 | 40.6
33|+ EF ouT 54 13.2 | 40.8
A | B4t A ouT 47 6.0 41.0
3543 | FHl IE3H ouT 5711 15.6 | 41.4
64 |8HE = ouT 48 6.0 | 42.0
3| /hE = ouT 61 18.0 | 43.0 |BB
38 |E BE ouT 67 21.6 | 45.4
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